MATHEMATICA - REVUE D'ANALYSE NUMÉRIQUE ET DE THÉORIE DE L'APPROXIMATION

L'ANALYSE NUMÉRIQUE ET LA THÉORIE DE L'APPROXIMATION Tome 11, Nº 1 – 2, 1982, pp. 49–57

Mire- part the law and the many

EXTENSIONS OF SOME FINITE DIFFERENCE EQUATIONS FOR THE CASE OF DISTRIBUTIONS

BORISLAV CRSTICI and MIHAI NEAGU (Timișoara)

0. Let $\mathfrak{D}_x = \mathfrak{D}_x(\mathbf{R})$, $x \in \mathbf{R}$, be the space of testing functions of a real variable and $\mathfrak{D}_{x,y} = \mathfrak{D}_{x,y} (\mathbf{R}^{p+1})$, $x \in \mathbf{R}$, $y \in \mathbf{R}^p$ the space of testing functions of p+1 variables. $\mathfrak{D}'_x = \mathfrak{D}'_x (\mathbf{R})$ and $\mathfrak{D}'_{x,y} = \mathfrak{D}'_{x,y} (\mathbf{R}^{p+1})$ denote the corresponding dual spaces. Further, we use the notations: $D^k = \frac{d^k}{dx^k}$ for the derivatives of the functions belonging to \mathfrak{D}_x , and $D^k_x = \frac{\partial^k}{\partial x^k}$, $D^k_{y_i} = \frac{\partial^k}{\partial y^k_i}$, where y_i , $i=1,2,\ldots,p$ are the coordinates of the vector y, for the derivatives of the functions belonging to $\mathfrak{D}_{x,y}$.

1. Let $a \in \mathbb{R}^p$. We consider the following operators on the space $\mathfrak{D}_{x,y}$

$$J(a): \mathfrak{D}_{x, y} \to \mathfrak{D}_{x, y}$$

$$J(a)[\varphi](x, y) = \varphi\left(x - \sum_{i=1}^{p} a_{i} y_{i}, y\right)$$

for any $\varphi \in \mathfrak{D}_{x,y}$, where a_i , $i=1, 2, \ldots, p$ are the coordinates of the vector a, and

(2)
$$I(a): \mathfrak{D}_{x,y} \to \mathfrak{D}$$
$$I(a)[\varphi](x) = \int_{\mathbb{R}^d} J(a)[\varphi](x, y) dy$$

for any $\varphi \in \mathfrak{D}_{x, y}$.

(1)

We remark that

$$I(a)[\varphi] = \langle 1_y, J(a)[\varphi] \rangle$$

for any $\varphi \in \mathfrak{D}_{x,y}$, where 1_y is the regular distribution defined by the function $1_y = 1$, for any $y \in \mathbf{R}^p$.

We observe also the evident properties

$$J(a)$$
 $J(b) = J(b)$ $J(a) = J(a+b)$; $a \in \mathbb{R}^p$, $b \in \mathbb{R}^p$

$$I(a) \ J(b) = I(b) \ J(a) = I(a+b); \ a \in \mathbb{R}^p, \ b \in \mathbb{R}^p$$

the succession of the operators being from right to left in the case of the product IJ.

Finally, we observe that

$$I(a)[\varphi](x) = \frac{1}{|a_i|} \int_{\mathbb{R}^p} P_{a_i}[\varphi](x, y) dy$$

for any $\varphi \in \mathfrak{D}_{x,y}$, where

$$P_{a_i}[\varphi](x,y) = \varphi(y_i, y_1, \ldots, y_{i-1}, \eta, y_{i+1}, \ldots, y_p)$$

for any $\varphi \in \mathfrak{D}_{x,y}$, where

$$\eta = \frac{1}{a_i} \left(x - \sum_{k \neq i} a_x x_k - y_i \right)$$

2. We consider now the following operators on the space $\mathfrak{D}'_{x, y}$, respectively \mathfrak{D}'_{x}

$$\tilde{J}(a):\mathfrak{D}'_{x,y}\to\mathfrak{D}'_{x,y}$$

(3)
$$\langle \widetilde{J}(a)[T], \varphi \rangle = \langle T, J(a)[\varphi] \rangle$$

for any $T \in \mathfrak{D}'_{x,y}$ and $\varphi \in \mathfrak{D}'_{x,y}$; and

$$\widetilde{I}(a): \mathfrak{D}'_{x} \to \mathfrak{D}'_{x, y}$$

(4)
$$\langle \widetilde{I}(a)[T], \varphi \rangle = \langle T, I(a)[\varphi] \rangle$$

for any $T \in \mathfrak{D}'_x$ and $\varphi \in \mathfrak{D}_{x,y}$.

The following properties are immediate:

$$\widetilde{J}(a)$$
 $\widetilde{J}(b) = \widetilde{J}(b)$ $\widetilde{J}(a) = \widetilde{J}(a+b)$; $a \in \mathbb{R}^p$, $b \in \mathbb{R}^p$

$$\widetilde{J}(a)$$
 $\widetilde{I}(b) = \widetilde{J}(b)\widetilde{I}(a) = \widetilde{I}(a+b)$; $a \in \mathbb{R}^p$, $b \in \mathbb{R}^p$

PROPOSITION 1. If $f \in \mathfrak{D}'_x$ is a regular distribution, then $\widetilde{I}(a)[f]$ is the regular distribution defined by the function g for which we have

$$g(x, y) = f\left(x + \sum_{i=1}^{p} a_i y_i\right)$$

where $(x, y) \in \mathbf{R} \times \mathbf{R}^p$.

Proof

For any $\varphi \in \mathfrak{D}_{x,y}$, we have

$$\langle \tilde{I}(a)[f], \varphi \rangle = \langle f, I(a)[\varphi] \rangle = \int_{\mathbb{R}} f(x) dx \int_{\mathbb{R}^p} \varphi \left(x - \sum_{i=1}^p a_i y_i, y \right) dy =$$

$$= \int_{\mathbf{R}^{p+1}} f(x) \varphi \left(x - \sum_{i=1}^{p} a_i y_i, y \right) \mathrm{d}x \mathrm{d}y = \int_{\mathbf{R}^{p+1}} f\left(x + \sum_{i=1}^{p} a_i y_i \right) \varphi(x, y) \mathrm{d}x \mathrm{d}y$$

Corollary 1. If $\alpha \in \mathfrak{D}'_x$ is the regular distribution defined by the function $\alpha \in C^{\infty}_{\mathbf{R}}$, then $\widetilde{I}(a)[\alpha]$ is the regular distribution defined by the function $\beta \in C^{\infty}_{\mathbf{R} \times \mathbf{R}^p}$ for which

$$\beta(x, y) = \alpha \left(x + \sum_{i=1}^{p} a_i y_i \right)$$

where $(x, y) \in \mathbf{R} \times \mathbf{R}^p$.

PROPOSITION 2. If $\alpha \in C_{\mathbf{R}}^{\infty}$, then for any $T \in \mathfrak{D}'_x$, we have

$$\widetilde{I}(a)[\alpha T] = \widetilde{I}(a)[\alpha] \cdot \widetilde{I}(a)[T]$$

On the right side we have the product of the distribution $\widetilde{I}(a)[T] \in \mathfrak{D}'_{x,y}$ and the function $\widetilde{I}(a)[\alpha] \in C^{\infty}_{\mathbf{R} \times \mathbf{R}^p}$.

Proof:

For any $\varphi \in \mathfrak{D}_{x, y}$, we have

$$\langle \widetilde{I}(a) [\alpha] \ \widetilde{I}(a) [T], \ \varphi \rangle = \langle \widetilde{I}(a) [T], \ \varphi \widetilde{I}(a) [\alpha] \rangle =$$

$$= \langle T, \ I(a) [\varphi \widetilde{I}(a) [\alpha]] \rangle = \langle T, \ \alpha I(a) [\varphi] \rangle =$$

$$= \langle \alpha T, \ I(a) [\varphi] \rangle = \langle \widetilde{I}(a) [\alpha T], \ \varphi \rangle$$

PROPOSITION 3. For any $T \in \mathfrak{D}'_x$ we have the following rules

$$D_x \widetilde{I}(a)[T] = \widetilde{I}(a)[DT]$$

 $D_y \widetilde{I}(a)[T] = a_t \widetilde{I}(a)[DT]$

for every $i = 1, 2, \ldots, p$.

Proof:

For any $\varphi \in \mathfrak{D}_{x,y}$, we have

$$\langle \widetilde{I}(a)[DT], \ \varphi \rangle = \langle DT, \ I(a)[\varphi] \rangle =$$

$$= -\langle T, \ D(I(a)[\varphi]) \rangle = -\langle T. \ I(a)[D_x \varphi] \rangle =$$

$$= -\langle \widetilde{I}(a)[T], \ D_x \varphi \rangle = \langle D_x \widetilde{I}(a)[T], \ \varphi \rangle$$

The first rule is proved. We shall prove the second rule for an arbitrary i. We have, for any $\varphi \in \mathfrak{D}_{x,y}$,

$$\langle D_{y_i} \widetilde{I}(a) [T], \varphi \rangle = \langle \widetilde{I}(a) [T], -D_{y_i} \varphi \rangle =$$

$$= \langle T, -I(a) [D_{y_i} \varphi] \rangle = \langle T, -\frac{1}{|a_i|} \int_{\mathbb{R}^p} P_{a_i} [D_{y_i} \varphi] dy \rangle =$$

$$= \langle T, -\frac{1}{|a_i|} \int_{\mathbb{R}^p} \frac{\partial}{\partial \eta} P_{a_i} [\varphi] dy \rangle =$$

$$= \langle T, -\frac{a_i}{|a_i|} \int_{\mathbb{R}^p} \frac{\partial}{\partial x} P_{a_i} [\varphi] dy \rangle =$$

$$= \langle a_i T, -\frac{1}{|a_i|} \frac{d}{dx} \int_{\mathbb{R}^p} P_{a_i} [\varphi] dy \rangle =$$

$$= \langle a_i DT, I(a) [\varphi] \rangle = \langle a_i \widetilde{I}(a) [DT], \varphi \rangle$$

(For the signification of $P_{a_i}[\varphi]$ and of η , see the end the section 1). PROPOSITION 4. If for $T \in D'_x$ we have $y_i \widetilde{I}(a)[T] = 0$ for an $i \in \{1, 2, \ldots, p\}$ and for an $a \in \mathbf{R}^p$, then T = 0.

Proof:

Let $\chi \in \mathfrak{D}_y$ such that $\int_{\mathbf{R}^p} y_i \chi(y) \mathrm{d}y = 1$. Let $\psi(x, y) = J(-a) [\varphi \chi](x, y)$ where $\varphi \in \mathfrak{D}_x$ is arbitrary. Then we have

$$\langle y_{i}\widetilde{I}(a)[T], \ \psi \rangle = \langle \widetilde{I}(a)[T], \ y_{i}J(-a)[\varphi\chi] \rangle =$$

$$= \langle T, \ I(a)[y_{i}J(-a)[\varphi\chi]] \rangle = \langle T, \ 1_{y}, \ y_{i}J(a)[J(-a)[\varphi\chi]] \rangle \rangle =$$

$$= \langle T, \ \langle 1_{y}, \ y_{i}\varphi\chi \rangle \rangle = \langle T, \ \varphi \int_{\mathbf{P}^{p}} y_{i}\chi \ \mathrm{d}y \rangle = \langle T, \ \varphi \rangle$$

From $\langle T, \varphi \rangle = 0$ for any $\varphi \in \mathfrak{D}_x$ results T = 0.

3. We define for the testing functions of p+1 variables the following "finite difference operator of order p", which operator maps these functions in the space single variable testing functions:

$$\Delta_{p}: \mathfrak{D}_{x, y}(\mathbf{R}^{p+1}) \to \mathfrak{D}_{x}(\mathbf{R})$$
5)
$$\Delta_{p} = I(1, 1, ..., 1) - [I(0, 1, ..., 1) + ... + I(1, 1, ..., 0)] + ... + [I(0, 0, 1, ..., 1) + ... + I(1, 1, 1, ..., 0, 0)] + ... + ... + (-1)^{p} I(0, 0, ..., 0)$$

For the distributions belonging to $\mathfrak{D}'_x(\mathbf{R})$ we define ,,the finite difference operator of order p" in the following manner:

$$\widetilde{\Delta}_{p}: \mathfrak{D}'_{x}(\mathbf{R}) \to \mathfrak{D}'_{x, y}(\mathbf{R}^{p+1})$$

(6)
$$\langle \widetilde{\Delta}_{p}[T], \varphi \rangle = \langle T, \Delta_{p}[\varphi] \rangle$$

for any $T \in \mathfrak{D}'_x(\mathbf{R})$ and $\varphi \in \mathfrak{D}_{x,y}(\mathbf{R}^{p+1})$.

We observe that if f is a regular distribution defined by the locally integrable function f, then $\widetilde{\Delta}_p[f]$ is the regular distribution defined by the function

$$g(x, y) = f(x + y_1 + \dots + y_p) - f(x + y_2 + \dots + y_p) - \dots - f(x + y_1 + \dots + y_{p-1}) + f(x + y_3 + y_4 + \dots + y_p) + \dots + f(x + y_1 + \dots + y_{p-2}) + \dots + (-1)^p f(x)$$

PROPOSITION 5. For any $T \in \mathfrak{D}'_{x}(\mathbf{R})$ we have

$$\widetilde{\Delta}_p[T] = y_1 y_2 \dots y_p \widetilde{I}(\theta_1, \theta_2, \dots, \theta_p)[D^p T]$$

where $\theta_i \in (0, 1), i = 1, 2, ..., p.$

Proof:

Let p = 1. In this case we have

$$\Delta_1:\mathfrak{D}_{x,\,y_1}(\mathbf{R}^2)\to\mathfrak{D}_x(\mathbf{R})\;;\;\;\Delta_1=I(1)\,-\,I(0)\;;\;\;\widetilde{\Delta}_1:\mathfrak{D}_x'(\mathbf{R})\to\mathfrak{D}_{x,\,y_1}(\mathbf{R}^2)$$

For any $T \in \mathfrak{D}'_{x}(\mathbf{R})$ and $\varphi \in \mathfrak{D}_{x, y_{1}}(\mathbf{R}^{2})$, we have

$$\begin{split} &\langle\widetilde{\Delta}_{1}[T],\; \varphi\rangle = \langle T,\; \Delta_{1}[\varphi]\rangle = \langle T_{x},\; \langle 1_{y_{1}},\; (J(1)-J(0))[\varphi](x,\; y_{1})\rangle\rangle = \\ &= \langle T_{x},\; \langle 1_{y_{1}},\; -y_{1}D_{x}J(\theta_{1})[\varphi](x,\; y_{1})\rangle = \langle T_{x},\; \langle 1_{y_{1}},\; J(\theta_{1})[-D_{x}y_{1}\varphi](x,\; y_{1})\rangle\rangle = \\ &= \langle T,\; I(\theta_{1})[-D_{x}y_{1}\varphi)]\rangle = \langle T,\; -DI(\theta_{1})[y_{1}\varphi]\rangle = \langle y_{1}\widetilde{I}(\theta_{1})[DT],\; \varphi\rangle \\ &\text{We obtain} \end{split}$$

$$\widetilde{\Delta}_1[T] = y_1 \widehat{I}(\theta_1)[DT]$$

where $\theta_1 \in (0, 1)$.

Now let p = 2. In this case we have

$$\Delta_2: \mathfrak{D}_{x,y}(\mathbf{R}^3] \to \mathfrak{D}_x(\mathbf{R}), \ \Delta_2 = I(1, 1) - I(1, 0) - I(0, 1) + I(0, 0),$$

$$\widetilde{\Delta}_2: \mathfrak{D}_x'(\mathbf{R}) \to D_{x,y}'(\mathbf{R}^3)$$

We observe that for any $\varphi \in \mathfrak{D}_{x,y}(\mathbf{R}^3)$

$$(I(1, 1) - I(0, 1))[\varphi] = -DI(\theta_1, 1)[y_1\varphi]$$

and

$$(I(1, 0) - I(0, 0))[\varphi] = -DI(\theta_1, 0)[y_1\varphi]$$

occur, where $\theta_1 \in (0, 1)$. Hence

$$\Delta_2[\varphi] = -D(I(\theta_1, 1) - I(\theta_1, 0)[y_1\varphi]$$

Since

$$(I(\theta_1, 1) - I(\theta_1, 0))[y_1\varphi] = -DI(\theta_1, \theta_2)[y_1y_2\varphi]$$

where $\theta_2 \in (0, 1)$, we obtain

$$\Delta_2[\varphi] = D^2 I(\theta_1, \theta_2)[y_1 y_2 \varphi]$$

where $\theta_i \in (0, 1)$; i = 1, 2.

Hence

$$\begin{split} &\langle \widetilde{\Delta}_2[T], \ \varphi \rangle = \langle T, \ \Delta_2[\varphi] \rangle = \\ &= \langle T, \ D^2 I(\theta_1, \ \theta_2)[y_1 y_2 \varphi] \rangle = \langle y_1 y_2 \ \widetilde{I}(\theta_1, \ \theta_2)[D^2 T], \ \varphi \rangle \end{split}$$

for any $T \in \mathfrak{D}'_{x}(\mathbb{R})$ and $\varphi \in \mathfrak{D}_{x,y}(\mathbb{R}^{3})$.

In a similar way we can prove the relation from the proposition 5

for an arbitrary p.

4. Now let p = 1. For the testing — functions from $D_{x,h}$, where in this case h is a scalar variable, we define the following operator which maps these functions in the space \mathfrak{D}_x :

$$\Delta_1^n:\mathfrak{D}_{x,\,h}\to\mathfrak{D}_x$$

 $\Delta_1^n=\Delta_1^{n-1}(J(\mathring{1})-J(0)),\ n\geqslant 2,\ \Delta_1^1=\Delta_1$ On the space \mathfrak{D}_x' , we define now the operator

$$\widetilde{\Delta}_1^n: \mathfrak{D}_x' \to \mathfrak{D}_{x,h}'$$

in the following manner

$$\langle \widetilde{\Delta}_{1}^{n} [T], \varphi \rangle = \langle T, \Delta_{1}^{n} [\varphi] \rangle$$

for any $T \in \mathfrak{D}'_x$, $\varphi \in \mathfrak{D}_{x,h}$ and $n \geqslant 1$.

If T is defined by a locally integrable function f, then

$$\langle \widetilde{\Delta}_{1}^{1}[T], \varphi \rangle = \langle T, \Delta_{1}^{1}[\varphi] \rangle = \int_{\mathbf{P}} f(x) \cdot \Delta_{1}^{1}[\varphi](x, h) dy =$$

$$= \int_{\mathbb{R}^2} f(x) \left[\varphi(x-h, h) - \varphi(x, h) \right] \mathrm{d}x \mathrm{d}h = \int_{\mathbb{R}^2} \left[f(x+h) - f(x) \right] \varphi(x, h) \mathrm{d}x \mathrm{d}h$$

We conclude that in this case $\widetilde{\Delta}_1^1[T]$ is the distribution defined by the function $\alpha(x, h) = f(x + h) - f(x)$. Generally, if T is defined by the function f, then $\widetilde{\Delta}_1^n[T]$ is the distribution defined by the function

$$\beta(x,h) = f(x+nh) - C_n^1 f(x+(n-1)h) + C_n^2 f(x+(n-2)h) + \dots + (-1)^n f(x)$$

PROPOSITION 6. For any $T \in \mathfrak{D}'_x$, we have

$$\widetilde{\Delta}_{1}^{n}[T] = h^{n}\widetilde{I}(n\theta)[D^{n}T]$$

occurs, where $\theta \in (0,1), n \geq 1$.

Proof:

Let n = 1. For any $\varphi \in \mathfrak{D}_{x,h}$, we have

$$\begin{split} \langle \widetilde{\Delta}_{1}^{1}[T], \ \varphi \rangle &= \langle T, \ \Delta_{1}^{1}[\varphi] \rangle = \langle T, \ \Delta_{1}[\varphi] \rangle = \\ &= \left\langle T_{x}, \int_{\mathbf{R}} \left[\varphi(x - h, h) - \varphi(x, h) \right] \mathrm{d}h \right\rangle = \\ &= \left\langle T_{x}, \int_{\mathbf{R}} - h \varphi_{x}'(x - \theta h, h) \mathrm{d}h \right\rangle = \left\langle T_{x}, \left\langle 1_{h}, - h \varphi_{x}'(x - \theta h, h) \right\rangle \rangle = \\ &= \left\langle T_{x}, \left\langle 1_{h}, \ J(\theta) \left[- D_{x} h \varphi \right] \right\rangle = \left\langle T, \ I(\theta) \left[- D_{x} h \varphi \right] \right\rangle = \\ &= \left\langle T, \ - D_{x} I(\theta) \left[h \varphi \right] \right\rangle = \left\langle h \widetilde{I}(\theta) \left[DT \right], \ \varphi \right\rangle \end{split}$$

hence

$$\widetilde{\Delta}_{1}^{1}[T] = h\widetilde{I}(\theta)[DT]$$

where $\theta \in (0, 1)$.

In order to apply the proof by induction, we observe that

$$\langle \widetilde{\Delta}_{1}^{n}[T], \varphi \rangle = \langle T, \Delta_{1}^{n}[\varphi] \rangle = \langle T, \Delta_{1}^{n-1}(J(1) - J(0))[\varphi] \rangle =$$
$$= \langle \widetilde{\Delta}_{1}^{n-1}[T], (J(1) - J(0))[\varphi] \rangle$$

for any $T \in \mathfrak{D}'_x$ and $\varphi \in \mathfrak{D}'_{x,h}$.

Now, by induction hypothesis we have

$$\langle \widetilde{\Delta}_{1}^{n}[T], \varphi \rangle = \langle h^{n-1}I((n-1)\theta)[D^{n-1}T], (J(1)-J(0))[\varphi] \rangle =$$

$$= \langle h^{n-1}D^{n-1}T, \int_{\mathbb{R}} [\varphi(x-h-(n-1)\theta h, h) - \varphi(x-(n-1)\theta h, h)] dh \rangle =$$

$$= \langle h^{n-1}D^{n-1}T, \int_{\mathbb{R}} -h\varphi_{x}'(x-(n-1)\theta h-\theta h, h) dh \rangle =$$

$$= \langle h^{n}\widetilde{I}(n\theta)[D^{n}T], \varphi \rangle$$

for any $T \in \mathfrak{D}'_x$, $\varphi \in \mathfrak{D}_{x,h}$ and the proposition is proved. 5. Let be the functional equation

$$\widetilde{\Delta}_{b}[T] =$$

where $T \in \mathfrak{D}'_x$.

Using the proposition 5 we can write

$$y_1y_2 \ldots y_p\widetilde{I}(\theta_1, \theta_2, \ldots, \theta_p)[D^pT] = 0$$

Hence $D^pT = 0$, which relation leads to the PROPOSITION 7. The general solution of the functional equation

$$\widetilde{\Delta}_p[T] = 0$$

in distributions is a regular distribution defined by an arbitrary polynomial of degree at most p-1.

We consider also the functional equation

$$\widetilde{\Delta}_{1}^{n}[T]=0$$

where $T \in \mathfrak{D}_x$.

Using the proposition 6 we can write

$$h^p\widetilde{I}(n\theta)[D^nT]=0$$

We deduce $D^nT = 0$ and we have the / PROPOSITION 8. The general solution of the functional equation

$$\widetilde{\Delta}_1^n\lceil T
ceil=0$$

in distributions is a regular distribution defined by an arbitrary polynomial of degree at most n-1.

Corollary 2. The general solution of the Fréchet functional equation

$$f(x + y_1 + y_2 + \dots + y_p) - f(x + y_2 + y_3 + \dots + y_p) - \dots - f(x + y_1 + y_2 + \dots + y_{p-1}) + \dots + (-1)^p f(x) = 0$$

: n the class of the locally integrable functions is an arbitrary polynomial of degree at most p-1.

Corollary 3. The general solution of the functional equation

$$f(x + nh) - C_n^1 f(x + (n-1)h) + \ldots + (-1)^n f(x) = 0$$

in the class of locally integrable functions is an arbitrary polynominal of degree at most n-1.

BIBLIOGRAPHY

- [1] Fenyö, I., On the General Solution of a Functional Equation in the Domain of Distributions. Aeq. Math., 3, 236-246, 1969.
- [2] Frechet, M. Une définition fonctionnelle des polynomes, Neuv. Ann. Math., 9, 145-162, 1909.
- [3] Popoviciu, T., Sur les solutions bornées et mesurables de quelques équations functionnelles, Mathematica, Cluj, 14, 47-106, 1938.
- [4] Schwartz, L., Théorie des distributions, Hermann, Paris, 1966.

Received 14.III.1981.

Institutul Politehnic ,,Traian Vuia"
Timisoara